OFFICE OF THE EXECUTIVE ENGINEER PUBLIC HEALTH ENGINEERING DIVISION NO.II

KHAIRPUR @ RANIPUR

NO.GB/TC/KHP/ //2 RANIPUR DT: 14 / 02 /2017

of 2017

NOTICE INVITING TENDERS

SEALED TENDERS FOR THE FOLLOWING WORKS ON B-I/B-II FORMS ARE INVITED FROM THE BIDDERS/FIRMS & CONTRACTORS MEETING THE ELIGIBILITY CRITERIA OF SINDH PUBLIC PROCUREMENT REGULATORY AUTHORITY RULES 2010.

S.#	Name of Schemes Estimated Earnest Tender Cost Money Fee									
A	Maintenance & Repair									
1	Operation & Maintenance Drainage Scheme Khimitia Taluka Gambat	0.309	5%	1500	06 Month					
2	Operation & Maintenance Drainage Scheme Jado Wahan Taluka Gambat	0.343	5%	1500	06 Months					

- 1. Contractors documents and other terms & conditions can be seen and blank tender be obtained from the office of the undersigned on payment of Bid / Tender Fee (Non-Refundable) from the date of Insertion if NIT on Net News paper up to 1:00 PM of 08-02-2017 as shown against the work and submission of call deposit of any reputed bank of Pakistan in the name of undersigned.
- 2. No Conditional bids/Tender will be accepted.
- 3. The Tender will be received back on 09-02-2017 up to 1:00 PM will be opened on same day at 2:00 PM in the presence of the tender opening committee/procurement committee and in presence of bidders on their authorized represented who which be present at that time.
- 4. If the undersigned happens to be out of head quarter or Govt, announces a public holiday on the date opening of bids/Tender the same will be open on next working date at 1:00 PM.
- 5. If the bids / Tenders went unresponsive then the next date for issuing from 24-02-2017 to 24-0**2**-2017 up to 2:00PM and will be opened at 3:00 PM on same day.
- 6. The procuring agency may reject any all bids subject to the relevant provision of Sindh Public Procurement Rules 2010.
- 7. Registration with Pakistan Engineering Council in relevant Field of work and to the extent of tender amount of each work,
- 8. Bank bids will be issued to the approved Government Contractor having category (CE-09) registration with (PEC) and pay order is not allowed.
- 9. The bidder must be registered with Sindh Revenue Board and holding N.T.N & C.N.I.C, FBR filer.
- 10. Undertaking on affidavit that the firm is not involved in any litigation or black list previously must be any executing agency or has not abandoned work in the department as well as documents particulars information furnished or true and
- 11. In case of firm furnish list of partners deed giving full particulars directors propagator such undertaking on affidavit be furnished.
- 12. In case of work costing as below rupees 4.00 Million the condition mentioned at serial no.08 will not be applicable.
- 13. The tender/ bids will not be issued to those persons who have not produced NTN certificate Sindh Revenue Board Certificate & PEC-2017 certificate with relevant code.

EXECUTIVE ENGINEER

PUBLIC HEALTH ENGINEERING DIVISION-II KHAIRPUR @ RANIPUR

Copy forwarded with compliments to :-

The Chief Engineer, Public Health Engineering Department Government of Sindh Sukkur for favour of his kind information.

The Director Information (Advertisement) Block-96 Sindh Secretariat Karachi for information and publication in at least three languages leading Newspapers (Sindhi, Urdu & English).

The Director (A&F) Sindh Public Procurement Regulatory Authority Government of Sindh Karachi for information and C.D of this N.I.T is also enclosed herewith for placement on Government Website

The Superintending Engineer, Public Health Engineering Circle Sukkur for Avour of his kind information.

TIVE ENGINEER C HEALTH ENGINEERING LVISION-II KHAIRPUR @ RANIPUR



GOVERNMENT OF SINDH PUBLIC HEALTH ENGINEERING DEPARTMENT Karachi dated the May, 2013

NOTIFICATION

No.SO(T)/PHE/SPPRA-Rules/2013 (pt-II), In exercise of powers conferred by Rule-7 of SPP Rules-2010, the Division wise Departmental Procurement Committees are hereby constituted in Public Health Engineering Department as

VS.	# NAME OF PHE DIVISION	PROCUREMENT COMMITTEE	CHAIRMAN/ MEMBER
01	Hyderabad	Executive Engineer, PHE, Division No. 1 Hyderabad	Chairman
		Executive Engineer, Education Works Division Hyderabad	Member
		Assistant Engineer, PHE Sub-Division Qasimabad	Member
2	Jamshoro	Executive Engineer, PHE, Division Jamshoro	Chairman
	,	Executive Engineer, Education Works, Division Hyderabad	Member
		Assistant Engineer, PHE, Sub-Division Jamshoro	Member
3	Thatta	Executive Engineer, PHE, Division Thatta	Chairman
		Executive Engineer, Education Works Division Thatta	Member
A PART SANS		Assistant Engineer, PHE, Sub-Division No. 1 Thatta	Member
4	Tando Muhammad Khan	Executive Engineer, PHE, Division Tande Muhammad Khan	Chairman
	Kaa	Executive Engineer, Education Works Division Tando Muhammad Khan	Mentos
		Executive Engineer, PHE, Sub- Division No. II Tando Muhammad Khan	Member

Kashmore @ Kandhkot	Executive Engineer, PHE, Division Kashmore @ Kandhkot	Chairman
	Executive Engineer, Roads Kashmore @ Kandhkot	Member
	Assistant Engineer, PHE, Sub-Division No. 1 Kashmore @ Kandhkot	Member

Ferris of reference of the Committees:

- 1. Preparing bidding documents
- ? Carrying out technical as well as financial evaluation of the bids
- Preparing evaluation report as provided in Rule 45
- Making recommendations for the award of contract to the competent authority; and
- 5. Perform any ot er function ancillary and incidental to the above

S.M. KALEEM MAKKI

Secretary to Government of Sindh

copy forwarded for information & necessary action to:-

- · The Accountant General Sindh, Karachi.
- The Administrative Secretaries (all) in Sindh.
- The Commissioner (all) in Sindh.
- The Chief Engineer, PHED, Hyderabad / Sukkur.
 - · The Director, Procurement Regulatory Authority Sindh Karachi.
 - The Deputy Commissioner (all) in Sindh.
 - The Superintending Engineer, PHED (all) in Sindh.
 - The Executive Engineer, PHE, Division (all) in Sindh.
 - · PS to Secretary, PHED, Govt. of Sindh, Karachi.
 - · Additioanal Secretary, PHED, Govt. of Sindh, Karachi.

(ABDUL GHAFFAR SHAIKH Section Officer (Technical)

	Umerkot	Executive Engineer, PHE, Division Umerkor	Chairman
		Executive Engineer, Education & Works Division Umerkot	Member
		Assistant Engineer, PHE, Sub-Division Kunri	Member
13	Sukkur	Executive Engineer, PHE. Division Sukkur	Chairman
	o =	Executive Engineer, Highway Division Sukkur	Member
4		Assistant Engineer PHE, Sub-Division No. II Sukkur	Member
14	Ghotki @ Mirpur Mathelo	Executive Engineer, PHE, Division Ghotki @ Mirpur Mathelo	Chairman
# 1		Executive Engineer, Education Works District Ghotki	Member
	3	Assistant Engineer, PHE, Sub-Division No.III Ghotki	Member
15	Khairpur-I	Executive Engineer, PHE, Division No. 1 Khairpur	Chairman
	-	Executive Engineer, Provincial Highway N'Feroze at Khairpur	Member
		Assistant Engineer, PHE, Sub-Division No.III Khairpur	Member
16	Khairpur-II @ Ranipur	Executive Engineer, PHE, Division No.II Khairpur @ Ranipur	Chairman
হৰ	×	Executive Engineer, Irrigation East Division Khairpur	Member
		Assistant Engineer, PHE, Sub-Division Gambat	Member
17	Naushahro Feroze	Executive Engineer, PHE, Division Naushahro Feroze	Chairman
		Assistant Engineer, Highway Sub- Division Mehrabpur	Member
		Assistant Engineer, PHE. Sub-Division Naushahro Feroze	Member



NO.E/PHED/ 3080 of 2015. OFFICE OF THE CHIEF ENGINEER, PUBLIC HEALTH ENGG: DEPARTMENT GOVERNMENT OF SINDH SUKKUR

Sukkur, Dated. 69 / 12 /2015.

OFFICE ORDER.

3.3

In exercise of the power confirmed under Rule 31 of the Sindh Public Procurement Rules 2010. The following committee is hereby constituted to redress grievance / complaints that may arise during procuring proceedings in PHE Division-I Khairpur.

Superintending Engineer, Public Health Engineering Circle Sukkur	Chairman
Executive Engineer Education Works Khairpur	Member
Divisional Accounts Officer Provincial Highway N'Feroze @ Khairpur	Member

The committee shall act in accordance with rule 31 of Sindh

Public Procurement Rules 2010 (amended 2013).

8

(RAM CHAND.P.SANJHIRA)

CHIEF ENGINEER,

PUBLIC HEALTH ENGG: DEPARTMENT, GOVT: OF SINDH SUKKUR.

CC. to the

D.A/As above.

.

SEST

Manager Assessment-IV Sindh Public Procurement Regulatory Authority Karachi for information.

Superintending Engineer, Public Health Engineering Circle Sukkur for information.

Executive Engineer, Public Health Engineering Division-I Khairpur for information.

Executive Engineer, Education Works Khairpur for information.

Divisional Accounts Officer, Provincial Highway N'Feroze @ Khairpur for information.

FAYAZ HUSSAIN SHAIKH

12 B

OFFICE OF THE EXECUTIVE ENGINEER PUBLIC HEALTH ENGINEERING DIVISION II KHAIRPUR @ RANIPUR ANNUAL PROCUREMENT PLAN (WORKS, GOODS & SERVISCES)

S.no	Descripition of Procurement	Quantity	Estimate	Fund Allocated	Sourrce of	Proposed	Timi	ng Of l	Procur	ement	Remarks
	1150	(Where	Cost (Where	(1000 Million)	Funds (District	Procuement	1st	2nd	3rd	4th	
		Applicable)	Applicable)		ADP/ Non-ADP)	Method	Qtr	Qtr	Qtr	Qtr	
	Maintenance & Repair										
1	Operation & Maintenance Drainage					National Open					100%
	Scheme Khimiteia Taluka Gambat		0.309		M&R	Competative					Funds
	District Khairpur	*			29.5	Bidder			×		Available
	Operation & Maintenance Drainage					National Open					100%
	Scheme Khimiteia Taluka Gambat		0.343		M&R	Competative					Funds
	District Khairpur					Bidder					Available

Public Health Engineering

Division II Khairpur @ Ranipur

SCHEDULE "B"

NAME OF WORK:

Operation & Maintenance Drainage Scheme Jado Wahan Taluka Gambat District Khairpur.

SN	0.	Qty:	Item of Work	Rate	Unit	Amou	ınt
I	Earth W	ed lead up	vation in ashes, sand sof to 50 ft (CSI No.2 P-1) @Rs: 11		earance	Rs:	7.844 /=
2	Cleanin	g of C/Tar ring of sull aste etc ou	nk / sump below ground age water and disposal of te side the tank etc comp	level i/c of garbage		KS.	7,044 (-
	Qty:	1023.12	@Rs: 119	00.00	P.%ocft	Rs:	12,175
3		or every 50 per item No	ft aditional lead or part b. 1+2 = 7938.12	thereof (CSI	No.8 P-04)		/=
	50 L Qty:	eads @R 7938.12	S.100.78 P-Lead Rs.503 @Rs: 503		P.%ocft	Rs:	40,000 /=
	Supplyi		ing Machinery ing Automatic otor Con Motor	trol Unit (MC	EU) consist oil	Rs:	60,020 /=
	Qty:	2.00	@Rs: 248	00.00	P Set	Rs:	49,600 /=
2	Rewindi	ing of Elec	etric Motor 3 Phase 400/	440 volt 50 c	ycle with best		
	Qty:	1.00	@Rs: 105	99.00	P.%sft	Rs:	10,599 /=
2	Supplyir	ng fixing g	olden sewage pump (No	on Clogging F	Iorizendtal		
	Qty:	1.00	@Rs: 734	00.00	P.%sft	Rs:	73,400 /= 133,599 /-
		ing layin 24.00	<u>n</u> g & fixing trenches i @Rs: 26		Prft	Rs:	6,432 /=

	Qty:	2.00		@Rs:	1706.25	Each	Rs:	3,413 /=
1	C.I Ber Qty:	ns of flanges 0.4196	d ends		holes i.c trenci 6096.00	hes P Cwt	Rs:	2,558 /=
1	Flange	Adopter (HI	OPE) M.	R)				
	Qty:	2.0000		@Rs:	1215.00	Each	Rs:	2,430 /
1	Butt fu	ssion joints	(SMI No	H 3 I	20)			
	Qty:	2.0000		@Rs:	1000.00	Each	Rs:	2,000 /= 39,888
l 5"Dia	Excavat and dres to level a chain as flags and required	sing to true ali and grade cutti directed by en	es trencl gnment and d gineer Ir ossing fo	hes and and sha lisposal ncharge or non v	pits soft soil i/c pe liveling of be of surplus earth , providing fence rehicular traffic vehicular	ds of trenches with in one e guards lights		
Qty:	1155	cft	@Rs:	3600	P.%ocft		Rs:	4,158 /=
2	fixing in	trenches i/c cu	atting fit	ting and	pe cement joint of I jointing with ru er or 200 ft (RA	ıbber rings		
Qty:	165	Rft	@Rs:	263.00	P.Rft		Rs:	43,395 /=
2		n Special for U or ACIL B Cla			ure pipe standred)	L		
Qty:	6	Rft	@Rs:	1062.50	P.Rft		Rs:	6,375 /=
	with the		nt pressu	ire pipe	ing of the requir line to the speci complete			
Qty:	6	Joints	@Rs:	72	P.Joint		Rs:	432 /=

I , Suppling Reflex value havey pattern test

16 Refilling the excavated stuff in trenches in 6" thick layers i/c watering ramming or full etc complete

P.%ocft 3,084 /= Oty: 1155 cft @Rs: 2760.00 Rs: Rs: 57,444 /= GENERAL ABSTRACT OF COST SILT CLEARANCE RS 66020 PART-I /= PUMPING MACHINERY 160318 Rs. Inter Connection 47865 /= Rs. Repair of A.C Rising Main Rs 68932

Rs.

343139

/=

CONDITIONS

- 01. Any error / omission in the description of items of work rate original schedule will correct accordingly under executive engineer Public Health Engineering division II khairpur @ Ranipur .
- 02. premium will be allowed as non, schedule items.

03. The work will be carried out as per P.W.D. specification and approval details. working estimates .

Contractor

Public Health Engineering Division II Khairpur @ Ranipur

SCHEDULE "B"

NAME OF WORK:

Operation & Maintenance Drainage Scheme Khimitia Taluka Gambat District Khairpur.

Cleaning of C/Tank / sump below ground level i/c dewatering of sullage water and disposal of garbage solid waste etc oute side the tank etc complete (PHSI No.1 P-30) for c/Tank Qty: 1023.12 @Rs: 11900.00 P.%ocft Rs: 12,175 Extra for every 50 ft aditional lead or part thereof (CSI No.8 P-04) 50 Leads @RS.100.78 P-Lead Rs.5039/ Qty: 4960.62 @Rs: 5039.00 P.%ocft Rs: 24,997 / Rs: 41,638 / Repair of Pumping Machinery Supplying and Fixing Automatic otor Control Unit (MCU) consist For 10 BHP A.C Motor Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600 / Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /	SN	0.	Qty:	Item of Work	Rate	Unit	Amo	ount
Cleaning of C/Tank / sump below ground level i/c dewatering of sullage water and disposal of garbage solid waste etc oute side the tank etc complete (PHSI No.1 P-30) for e/Tank Qty: 1023.12 @Rs: 11900.00 P.%ocft Rs: 12,175 Extra for every 50 ft aditional lead or part thereof (CSI No.8 P-04) 50 Leads @RS.100.78 P-Lead Rs.5039/ Qty: 4960.62 @Rs: 5039.00 P.%ocft Rs: 24,997 / Rs: 41,638 / Repair of Pumping Machinery Supplying and Fixing Automatic otor Control Unit (MCU) consist For 10 BHP A.C Motor Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600 / Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /	1	Earth W	Vork Exc	avation in ashes, san		clearance		
dewatering of sullage water and disposal of garbage solid waste etc oute side the tank etc complete (PHSI No.1 P-30) for c/Tank		Qty:	3937.5	0 @Rs:	1134.38	P.%ocft	Rs:	4,467 /=
3 Extra for every 50 ft aditional lead or part thereof (CSI No.8 P-04) 50 Leads @RS.100.78 P-Lead Rs.5039/ Qty: 4960.62 @Rs: 5039.00 P.%ocft Rs: 24,997 / Rs: 41,638 / Repair of Pumping Machinery Supplying and Fixing Automatic otor Control Unit (MCU) consist For 10 BHP A.C Motor Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600 / Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /	2	dewater solid wa	ring of su aste etc o	illage water and dispo	osal of garbage	No.1 P-30)		
50 Leads @RS.100.78 P-Lead Rs.5039/ Qty: 4960.62 @Rs: 5039.00 P.%ocft Rs: 24,997 / Rs: 41,638 / Rs: 44,630 P.%oft Rs: 33,689 /		Qty:	1023.1	2 @Rs:	11900.00	P.%ocft	Rs:	12,175
Repair of Pumping Machinery Supplying and Fixing Automatic otor Control Unit (MCU) consist For 10 BHP A.C Motor Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600	3	Extra fo	or every 5	50 ft aditional lead or	part thereof (CS	SI No.8 P-04)		/=
Repair of Pumping Machinery Supplying and Fixing Automatic otor Control Unit (MCU) consist For 10 BHP A.C Motor Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600 / Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /			_			P %ocft	Rs.	24 997 /=
Supplying and Fixing Automatic otor Control Unit (MCU) consist For 10 BHP A.C Motor Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600 / Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /		Qij.	4700.0.		3037.00	1.70001		41,638 /=
Supplying and Fixing Automatic otor Control Unit (MCU) consist For 10 BHP A.C Motor Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600 / Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /								_
Qty: 2.00 @Rs: 24800.00 P Set Rs: 49,600 / 2 Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / 2 Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / 2 Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /	1	Supplyi	ng and F	ixing Automatic otor	Control Unit (M	ACU) consist		
Qty: 1.00 @Rs: 10599.00 P.%sft Rs: 10,599 / 2 Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / 2 Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /					24800.00	P Set	Rs:	49,600 /=
2 Supplying fixing golden sewage pump (Non Clogging Horizendtal Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 // 2 Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 //	2	Rewind	ing of El	ectric Motor 3 Phase	400/440 volt 50	cycle with		
Qty: 1.00 @Rs: 73400.00 P.%sft Rs: 73,400 / 2 Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /		Qty:	1.00	@Rs:	10599.00	P.%sft	Rs:	10,599 /=
2 Providing laying main sub main PVC installed with size 3-7 /044 Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689 /	2	Supplyi	ng fixing	golden sewage pum	o (Non Clogging	Horizendtal		
Qty: 76.21 @Rs: 442.00 P.%sft Rs: 33,689		Qty:	1.00	@Rs:	73400.00	P.%sft	Rs:	73,400 /=
	2	Providir	ng laying	main sub main PVC	installed with si	ze 3-7 /044		
IN 107.288 //		Qty:	76.21	@Rs:	442.00	P.%sft	Rs:	33,689 /= 167,288 /-

Inter	Conn	ection
111111111111111111111111111111111111111	COIII	icc iioii

						Rs:	52441	/=
	Qty:	6.25	@Rs:	1000.00	Prft	Rs:	6,250	/=
6	Errectio	n & fitting in position	of iron	truesses stag	ing of			
	M.S Jall Qty:	6.25	@Rs:	4928.49	Prft	Rs:	30,803	/=
6	Fibricatio	on of heavy steel work	with a	ngle tees flate	iron			
	Qty:	4.00	@Rs:	513.00	Prft	Rs:	2,052	/=
6	Jointi	ng CI /MS flanges pip	e to spe	ecial flanged a	amd			
	Qty:	1.00	@Rs:	1000.00	Prft	Rs:	1,000	/=
6		Butt Fussion joints	(SMI H	(3) P 20)				
	Qty:	1.00	@Rs:	1215.00	Prft	Rs:	1,215	/=
6	Qty:	1.00 Flanged Adopter (1706.25 E) (M.R)	Prft	Rs:	1,706	/=
5	3. Suppl	ing Reflex value ha	ivey pa	ttern test pre	essure pipe			
	Qty:	0.21	@Rs:	6096.00	Prft	Rs:	1,279	/=
4	5. C.I	Bens of flangesd end	ds with	holes i.c tre	nches ad			
	Qty:	2.00	@Rs:	596.75	Prft	Rs:	1,194	/=
3	Supplyi	ng Fxing M.s flang	ed mad	le out M.S S	heet 3/4			
	Qty:	10.00	@Rs:	506.00	Prft	Rs:	5,060	/=
2	Supplyi	ng fixing M.S Pipe	nade o	ut of				
	Qty:	24.00	@Rs:	268.00	Prft	Rs:	6,432	/=
1	Proviid	ing laying & fixing	trench	nes i/c fittin	g			

PART-I

SILT CLEARANCE PUMPING MACHINERY Inter Connection

RS 45803 /= Rs. 200746 /= Rs. 62929 /= Rs. 309478

CONDITIONS

- 01. Any error / omission in the description of items of work rate original schedule will correct accordingly under executive engineer Public Health Engineering division II khairpur @ Ranipur .
- 02. premium will be allowed as non, schedule items.
- 03. The work will be carried out as per P.W.D. specification and approval details. working estimates .

Contractor

Public Health Engineering
Division I Khairpur @ Ranipur

	NAME OF WORK: -	Operation & Maintenance Drainage Scheme Khimitia Taluka Gambat District Khairpur.
•	Name of Contractor: -	
	Whom tender issued: -	GOVERNMENT CONTRACTOR
٠	Tender fee received :-	
	D.R No :-	
	Dated :-	
		EXECUTIVE ENGINEER
		PUBLIC HEALTH ENGINEERING
		DIVISION-II KHAIRPUR @ RANIPUR
		MEMORANDUM
	General Description	And the second s
	Estimated Cost	Rs. 309500/-
	Earnest Money @ 5	
	Security Deposit @	
	Percentage if any t	
	Deduction from bi	
	Date of written ord	
		### (### (### (### (### (### (### (###
	I/We here b	y tendered for execution of above work at percentage rate
	below/above o	n schedule rate in the schedule B in accordance with section
	designed drawing etc and	shall executed the agreement on the proper from in case may
	tender in accepted.	
	Earnest shap	e of call deposit vide no dated for
	Rs of	
	Contractor	

EXECUTIVE ENGINEER
PUBLIC HEALTH ENGINEERING
DIVISION-II KHAIRPUR @ RANIPUR

Bid Reference No:-

Operation & Maintenance Drainage Scheme Khimitia Taluka Gambat District Khairpur.

To,

The Executive Engineer, Public Health Engg. Division-II **Khairpur**.

GENTLEMAN.

conditions of C prices and age above named with the name of an and being duly and complete said Documer Rs. as my be ascert 2. We understand 3. As security for this Bid, wo call deposited drawn in your eight (242) days 4. We undertake, complete the word data.	Having examined the Bidding Documents instructions to bidders, bidding datea conditions of Contract, Contract Data, specification, Drawings, if any, Schedule of prices and agenda Nos: for the execution of the above named works, we the undersigned being a company doing business under the name of and address
	and being duly incorporated under the laws of Pakistan hereby offer to execute, and complete such work and remedy any defects therein in conformity with the said Documents including agenda there to for the Total Bid Price of Rs (Rupees
) of such other sum
	as my be ascertained in accordance with said Documents.
2.	We understand that all the schedules attached here to form part of this Bid.
3.	call deposit No dated: Bank
	in the amount of Rs.
	drawn in your favour or made payable to your and valid for a period of twenty eight (242) days beyond the period of validity of Bid.
4.	We undertake, if our Bid is accepted to commence the work and to deliver and complete the work comprised in the contract within the time9s) stated in contract data.
5.	We agreed to abide by this Bid for the period of <u>12 Months</u> from the date fixed for receiving the same and it shall remain binding upon and may be acceptable at any time before the expiration of that period.
6.	Unless and until a formal agreement is prepared and executed this bid together

with your written acceptance thereof, shall constitute a binding contract between

7. We undertake if our Bid is accepted to execute the performance security referred

to in conditions of contract for the due performance of the contract.

Contd: P/2

. 8	receive.	of bound to accept the lowest or any bid	your may
, 9		Bid is made without any collusion comp any other person or persons making a bi	
	Date this	Day of	2017.
	Signature		
	In the capacity ofbehalf of	duly authorized to sign bid for	and on
	(Name of Bidder in Block Capi	itals).	
Addr	ress:	(SEAL)	
WIT	NESS:		
Signa	ature:	_	
Name	e :-		
Addr	ress:-		

Executive Engineer Public Health Engineering Division II Khairpur @ Ranipur

BIDDING DATA

(This section should be filled in by the Executive Engineer Public Health Engineering Division-II Khairpur @ Ranipur before issuance of the Bidding Documents).

a) Name of Procuring Agency	Executive Engineer Public Health Engineering Division-II Khairpur @ Ranipur
b) Brief Description of Work	Operation & Maintenance Drainage Scheme Khimitia Taluka Gambat District Khairpur.
c) Procuring Agency's address	Office of the Executive Engineer Public Health Engineering Division-II Khairpur @ Ranipur.
d) Estimated Cost	Million: 0.309
e) Amount of Bid Security	5%
f) Period of Bid Validity (Days)	60 Days
g) Security Deposit (Including Bid Security)	10%
h) Percentage if any, to be deducted from bills (Income . Tax + Security Deposit)	Income Tax Rs: 7.5% Security Deposit Rs: 10%
i) Deadline for submission of Bids along with time.	
j) Venue, Time and Date of Bid opening	Office of the Executive Engineer Public Health Engineering Division-I Khairpur @ Ranipur
k) Time for completion from written order of commence.	06 Months
I) Liquidity Damages	0.5%
m) Deposit Receipt Date	Amount
n) D.R No: Date and Amount	Rs:
o) Tender issued to	

(Authority Issuing Bidding Documents)

EXECUTIVE ENGINEER

PUBLIC HEALTH ENGINEERING

DIV-II KHAIRPUR @ RANIPUR

SCHEDULE "B"

NAME OF WORK:

Operation & Maintenance Drainage Scheme Khimitia Taluka Gambat District Khairpur.

CN			Tr. CXV		D . 4		X7			
S No.		ty:	Item of Wo		Rat		Unit	Am	ount	_
1			ation in ashes, s o 50 ft (CSI No.			learance				
	Qty:	3937.50	(@Rs:	1134.38		P.%ocft	Rs:	4,467	/=
2	dewaterir	ng of sulla	x / sump below ge water and di side the tank e	sposal	of garbage	(o.1 P-30)				
	Qty:	1023.12	(6	@Rs:	11900.00		P.%ocft	Rs:	12,175	
3	Extra for	every 50 f	t aditional lead	or par	t thereof (CSI	No.8 P-04	4)			/=
	50 L	eads @R	S.100.78 P-Lea	d Rs.5	5039/					
	Qty:	4960.62	@	@Rs:	5039.00		P.%ocft	Rs:	24,997	/=
	Renair (of Pumpi	ng Machinery	v				Rs:	41,638	/=
1	Supplying starter (M Taiwan) o meter (50 complete	g and Fixing SEECO PAC Cut out 60 OV) Selco	ng Automatic of AK) MCCB breamp (China) and O China) phase	tor Co aker 10 nps me	0 AMP to 50 a eter (60/5A) (S	mps (Shul ELCO Ch	nhlin aina) volt			
	Qty:	2.00	@)Rs:	24800.00		P Set	Rs:	49,600	/=
2	qulity inse	olated cop	ric Motor 3 Pha per wire of requ p to one openin	uired g	guage i/c testing	g on loud	with			

	Qty:	1.00	@Rs:	10599.00	P.%sft	Rs:	10,599	/=
2	Semioper			Non Clogging Horizend 'x3" cupable giving dis				
	Qty:	1.00	@Rs:	73400.00	P.%sft	Rs:	73,400	/=
2	Providing conduter	g laying main sub main	PVC ins	stalled with size 3-7 /04	14 copper			
	Qty:	76.21	@Rs:	442.00	P.%sft	Rs:	33,689	/=
	Inter Co	onnection				Rs:	167,288	/-
I	respacts (HDPE-1	ng laying & fixing to s the high density p 100) for W/S cofirm 0 & PSI 3051 (PHSI	olyenth ing ISO	nlene P.E pipe 1 4427 / Din 8074				
	Qty:	24.00	@Rs:	268.00	Prft	Rs:	6,432	/=
2	Sheet 3/1	g fixing M.S Pipe ma 6" thick cutting fold i/c welding etc comp	ing to st					
	Qty:	10.00	@Rs:	506.00	Prft	Rs:	5,060	/=
3		ving Fxing M.s flang thick cutting drilling						
	Qty:	2.00	@Rs:	596.75	Prft	Rs:	1,194	/=

bolts if necessary exculiding the cost of work out material (CSI-97 P110).

	Qty:	6.25	@Rs:	1000.00	Prft	Rs:	6,250 52441	/=
6	Errection	& fitting in position of tank etc (CS						
	Qty:	6.25	@Rs:	4928.49	Prft	Rs:	30,803	/=
6	steel iron bending a	4.00 n of heavy steel work vertrues grider tanks etc in seembling and fixing en position.	c cutting	revitting drilling	Prft	Rs:	2,052	/=
6	threaded nuts and	g CI/MS flanges pipe to d i/c suppling rubber pa bolts with wisher and one joint to the specified No 1 P	acking the other req pressure	e required thickness uired for jointing and				
	Qty:	1.00	@Rs:	1000.00	Prft	Rs:	1,000	/=
6		Butt Fussion joints	(SMI H	(3) P 20)				
	Qty:	1.00	@Rs:	1215.00	Prft	Rs:	1,215	/=
6	Qty:	1.00 Flanged Adopter	@Rs: (HPDPE	1706.25) (M.R)	Prft	Rs:	1,706	/=
5		opling Reflex value b 21.00 KG Sq cm 300	T	nttern test pressure pip nch (MSI 2 P11)	e			
	Qty:	0.21	@Rs:	6096.00	Prft	Rs:	1,279	/=
4		of flanged for alla	a size (S	MI 7.5 P 11).				

5. C.I Bens of flangesd ends with holes i.c trenches ad facing

GENERAL ABSTRACT OF COST

PART-	SILT CLEARANCE	RS	45803	/=
Ţ	PUMPING MACHINERY	Rs.	200746	/=
	Inter Connection	Rs.	62929	/=
		Rs	309478	

CONDITIONS

- 01. Any error / omission in the description of items of work rate original schedule will correct accordingly under executive engineer Public Health Engineering division II khairpur @ Ranipur .
- 02. premium will be allowed as non, schedule items.
- 03. The work will be carried out as per P.W.D. specification and approval details. working estimates .

Contractor

Executive Engineer Public Health Engineering Division II Khairpur @ Ranipur

NAME OF WORK	<: -	OPERATION & MAINTE TALUKA GAMBAT DISTI	NANCE DRAINAGE SCHEME RICT KHAIRPUR.	JADO WAHAN
Name of Contract	or: -		erosaum voi occidi manta comaggi	
Whom tender issu		GOVERNMENT CO	NTRACTOR	
· Tender fee receive				
D.R No				_
Dated				
Ditted	-			
			EXECUTIVE ENGINEE	R
		PU	BLIC HEALTH ENGINE	
			SION-II KHAIRPUR @ RA	
		MEMORAND	DUM	
General De	scription	n	As Above	
Estimated C			Rs. 343100/-	
Earnest Mo	oney @ 2	2%	Rs. 17155/-	
Security De			Rs. 34310 /-	
Percentage			Rs. 27448/-	
Deduction				
Date of wri	tten ord	er to complete	12 Months	
I/We	e here b	y tendered for executio	n of above work at percer	itage rate
below/	above o	n schedule rate in the s	chedule B in accordance	with section
designed drawing	etc and	shall executed the agre	eement on the proper fron	ı in case may
tender in accepted				
Earn	est shap	e of call deposit vide n	o dated	for
Rs of				
Contractor				

EXECUTIVE ENGINEER
PUBLIC HEALTH ENGINEERING
DIVISION-II KHAIRPUR @ RANIPUR

Bid Reference No:-

OPERATION & MAINTENANCE DRAINAGE SCHEME JADO WAHAN TALUKA GAMBAT DISTRICT KHAIRPUR.

· To,

The Executive Engineer, Public Health Engg. Division-II

Khairpur.

GENTLEMAN.

1.	Having examined the Bidding Documents instructions to bidders, bidding datea conditions of Contract, Contract Data, specification, Drawings, if any, Schedule of prices and agenda Nos: for the execution of the
	above named works, we the undersigned being a company doing business under
	and being duly incorporated under the laws of Pakistan hereby offer to execute, and complete such work and remedy any defects therein in conformity with the said Documents including agenda there to for the Total Bid Price of
	Rs. (Rupees
) of such other sum
	as my be ascertained in accordance with said Documents.
2.	We understand that all the schedules attached here to form part of this Bid.
3.	As security for due performance of the undertaking and obligations of this Bid, we submit herewith a bid security in the shape of call deposit No dated: Bank in the amount of Rs
	drawn in your favour or made payable to your and valid for a period of twenty eight (242) days beyond the period of validity of Bid.
4.	We undertake, if our Bid is accepted to commence the work and to deliver and complete the work comprised in the contract within the time9s) stated in contract data.
5.	We agreed to abide by this Bid for the period of <u>12 Months</u> from the date fixed for receiving the same and it shall remain binding upon and may be acceptable at any time before the expiration of that period.
6.	Unless and until a formal agreement is prepared and executed this bid together with your written acceptance thereof, shall constitute a binding contract between
7.	us. We undertake if our Bid is accepted to execute the performance security referred to in conditions of contract for the due performance of the contract.

Contd: P/2

	receive.			
9.	We do hereby declare that the Bid is figures or arrangement with any oth works.	s made without an	y collusion on making	comparison of a bid for the
	Date this Day	of		2017.
	Signature			
	In the capacity ofbehalf of		to sign bio	d for and on
	(Name of Bidder in Block Capitals).			
Addre	ess:		(S E A	. L)
WITN	IESS:			
Signat	ture:			
Name	:-			
Addre	ss:-			

8. We understand that you are not bound to accept the lowest or any bid your may

Executive Engineer Public Health Engineering Division II Khairpur @ Ranipur

BIDDING DATA

(This section should be filled in by the Executive Engineer Public Health Engineering Division-II Khairpur @ Ranipur before issuance of the Bidding Documents).

a) Name of Procuring Agency	Executive Engineer Public Health Engineering Division-II Khairpur @ Ranipur
b) Brief Description of Work	OPERATION & MAINTENANCE DRAINAGE SCHEME JADO WAHAN TALUKA GAMBAT DISTRICT KHAIRPUR.
c) Procuring Agency's address	Office of the Executive Engineer Public Health Engineering Division-II Khairpur @ Ranipur.
d) Estimated Cost	Million: 2.800
e) Amount of Bid Security	5%
f) Period of Bid Validity (Days)	60 Days
g) Security Deposit (Including Bid Security)	10%
h) Percentage if any, to be deducted from bills (Income . Tax + Security Deposit)	Income Tax Rs: 7.5% Security Deposit Rs: 10%
i) Deadline for submission of Bids along with time.	
j) Venue, Time and Date of Bid opening	Office of the Executive Engineer Public Health Engineering Division-I Khairpur @ Ranipur
k) Time for completion from written order of commence.	06 Months
I) Liquidity Damages	0.5%
m) Deposit Receipt Date	Amount
n) D.R No: Date and Amount	Rs:
o) Tender issued to	

(Authority Issuing Bidding Documents)

EXECUTIVE ENGINEER
PUBLIC HEALTH ENGINEERING

DIV-II KHAIRPUR @ RANIPUR

SCHEDULE "B"

NAME OF WORK:

Operation & Maintenance Drainage Scheme Jado Wahan Taluka Gamba District Khairpur.

S No.	Qty:	Item of V	Vork	Rate	Unit	Am	ount	
1		Excavation in asl ad upto 50 ft (CS	ALL COMMENTS OF THE PROPERTY OF THE PARTY OF	oil or silt clearance				
	Qty: 6915	5.00	@Rs:	1134.38	P.%ocft	Rs:	7,844	
2.	dewatering o	C/Tank / sump be f sullage water a tc oute side the t	nd disposal of		0)			
	Qty: 1023	3.12	@Rs:	11900.00	P.%ocft	Rs:	12,175	
3	Extra for ever Qty as per ite	The state of the s	7938.12	ereof (CSI No.8 P	-04)			
	50 Lea	ads @RS.100.78	8 P-Lead Rs.50	39/				
	Qty: 7938	3.12	@Rs:	5039.00	P.%ocft	Rs:	40,000	
						Rs:	60,020	
I	Supplying an (MEECO PA out 60 amp (6 Selco China)	Repair of Pumping Machinery Supplying and Fixing Automatic otor Control Unit (MCU) consist oil starter (MEECO PAK) MCCB breaker 10 AMP to 50 amps (Shuhhlin Taiwan) cut out 60 amp (China) amps meter (60/5A) (SELCO Chaina) volt meter (500 V) Selco China) phase Indaction 9" ad internal wairing etc complete (M.R) For 10 BHP A.C Motor						

2	Rewinding of Electric Motor 3 Phase 400/440 volt 50 cycle with best qulity insolated copper wire of required guage i/c testing on loud with satisfactory reslut up to one opening weeks time @ refiling & replacing the bolts if necessary exculiding the cost of work out material (CSI-97 P110).							
	Qty:	1.00	@Rs:	10599.00	P.%sft	Rs:	10,599	/=
2	Supplying fixing golden sewage pump (Non Clogging Horizendtal Semiopen Impeller) GSWG-103 Size 4"x3" cupable giving discharge (170-240) gpm (M.R)							
	Qty:	1.00	@Rs:	73400.00	P.%sft	Rs:	73,400	/=
	Inton C	·				Rs:	133,599	/-
1	Inter Connection Proviiding laying & fixing trenches i/c fitting jointing respacts the high density polyenthlene P.E pipe (HDPE- 100) for W/S cofirming ISO 4427 / Din 8074 BS 3580 & PSI 3051 (PHSI 1 P25) PN-10 (110 mm)							
	Qty:	24.00	@Rs:	268.00	Prft	Rs:	6,432	/=
1	Suppling Reflex value havey pattern test pressure pipe 21.00 KG Sq cm 300 lbs sq inch (MSI 2 P11).							
	Qty:	2.00	@Rs:	1706.25	Each	Rs:	3,413	/=
1	C.I Bens of flangesd ends with holes i.c trenches ad facing of flanged for alla size (SMI 7.5 P 11).							
	Qty:	0.4196	@Rs:	6096.00	P Cwt	Rs:	2,558	/=
1	Flange	Adopter (HDPE) M.R)						
	Qty:	2.0000	@Rs:	1215.00	Each	Rs:	2,430	/=
1	Butt fussion joints (SMI No H 3 P 20)							
	Qty:	2.0000	@Rs:	1000.00	Each	Rs:	2,000	/=
						Rs.	39,888	

RASING OF DRAINS TYPE II

Excavation for pipe lines trenches and pits soft soil i/c trimming and dressing to true alignment and shape liveling of beds of trenches to level and grade cutting and disposal of surplus earth with in one chain as directed by engineer Incharge, providing fence guards lights flags and temporary crossing for non vehicular traffic where ever required lift up to 5' ft and lead up one chain

6"Dia

Qty: 1155 cft @Rs: 3600 P.%ocft Rs: 4,158 /=

Providing asbestos cement pressure pipe cement joint of class "B" fixing in trenches i/c cutting fitting and jointing with rubber rings i/c testing with water a head of 61 meter or 200 ft (RA approved)

6" Dia

Qty: 165 Rft @Rs: 263.00 P.Rft Rs: 43,395 /=

2 Cost Iron Special for UPVC AC pressure pipe standred . weight for ACIL B Class (SMI 15 P13)

Qty: 6 Rft @Rs: 1062.50 P.Rft Rs: 6,375 /=

4 Making joints CI specials fitting i/c laying of the required along with the asbestos cement pressure pipe line to the specified pressure and making good to all leaky joints etc complete 6"

Dia

Qty: 6 Joints @Rs: 72 P.Joint

Refilling the excavated stuff in trenches in 6" thick layers i/c watering

ramming or full etc complete

Qty: 1155 cft @Rs: 2760.00 P.%ocft Rs: 3,084 /=

Rs: 57,444 /=

Rs: 432

/=

GENERAL ABSTRACT OF COST

PART- SILT CLEARANCE RS 66020 /=

 PUMPING MACHINERY
 Rs.
 160318 /=

 Inter Connection
 Rs.
 47865 /=

 Repair of A.C Rising Main
 Rs.
 68932 /=

 Rs.
 343139 /=

CONDITIONS

- 01. Any error / omission in the description of items of work rate original schedule will correct accordingly under executive engineer Public Health Engineering division II khairpur @ Ranipur .
- 02. premium will be allowed as non, schedule items.
- 03. The work will be carried out as per P.W.D. specification and approval details. working estimates.

Executive Engineer
Public Health Engineering
Division II Khairpur @ Ranip

Contractor